

ASYMPTOTIC BEHAVIOUR OF JACOBI POLYNOMIALS AND THEIR ZEROS

DIMITAR K. DIMITROV AND ELIEL J. C. DOS SANTOS

(Communicated by Walter Van Assche)

ABSTRACT. We obtain the explicit form of the expansion of the Jacobi polynomial $P_n^{(\alpha,\beta)}(1 - 2x/\beta)$ in terms of the negative powers of β . It is known that the constant term in the expansion coincides with the Laguerre polynomial $L_n^{(\alpha)}(x)$. Therefore, the result in the present paper provides the higher terms of the asymptotic expansion as $\beta \rightarrow \infty$. The corresponding asymptotic relation between the zeros of Jacobi and Laguerre polynomials is also derived.

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULT

Denote by $P_n^{(\alpha,\beta)}(x)$, $C_n^{(\lambda)}(x)$, $L_n^{(\alpha)}(x)$, $H_n(x)$ the classical Jacobi, Gegenbauer (ultraspherical), Laguerre and Hermite orthogonal polynomials. We adopt the standard normalizations as in [6, 7]. For a fixed $n \in \mathbb{N}$, denote by $x_{nk}(\alpha, \beta)$, $u_{nk}(\lambda)$, $\ell_{n,k}(\alpha)$ and h_{nk} , $k = 1, \dots, n$, the corresponding zeros of the above polynomials, all arranged in increasing order with respect to k .

The following limit relations are well known (see [6, p. 57]):

$$(1) \quad \lim_{\beta \rightarrow \infty} P_n^{(\alpha,\beta)}\left(1 - \frac{2x}{\beta}\right) = L_n^{(\alpha)}(x)$$

and

$$(2) \quad \lim_{\lambda \rightarrow \infty} \lambda^{-n/2} C_n^{(\lambda)}\left(\frac{x}{\sqrt{\lambda}}\right) = \frac{H_n(x)}{n!}.$$

These imply the following asymptotic formulae for the corresponding zeros of the classical orthogonal polynomials:

$$(3) \quad \lim_{\beta \rightarrow \infty} \frac{\beta(1 - x_{n,k}(\alpha, \beta))}{2} = \ell_{n,n+1-k}(\alpha), \quad k = 1, \dots, n,$$

and

$$(4) \quad \lim_{\lambda \rightarrow \infty} \sqrt{\lambda} u_{nk}(\lambda) = h_{nk}, \quad k = 1, \dots, n.$$

It is clear that (2) and (4) are rather straightforward consequences of (1) and (3). On the other hand, Elbert and Laforgia [4] obtained nice extensions of (2) and (4),

Received by the editors May 11, 2014 and, in revised form, October 10, 2014 and November 4, 2014.

2010 *Mathematics Subject Classification*. Primary 26C10, 33C45.

Key words and phrases. Jacobi polynomials, Laguerre polynomials, zeros, asymptotics.

The authors' research was supported by the Brazilian foundations CNPq under Grant 307183/2013-0 and FAPESP under Grant 2009/13832-9.

which read as follows:

$$\lambda^{-n/2} C_n^{(\lambda)}\left(\frac{x}{\sqrt{\lambda}}\right) = \sum_{j=0}^{n-1} \lambda^{-j} Q_{nj}(x),$$

where $Q_{n0}(x) = H_n(x)/n!$ and $Q_{nj}(x)$, $j = 1, \dots, n - 1$, are defined in [4, (1.2)], and

$$\begin{aligned} \sqrt{\lambda} u_{n,k}^{(\lambda)} &= h_{n,k} - h_{n,k} \left(\frac{2n - 1 + 2h_{n,k}^2}{8} \right) \lambda^{-1} \\ (5) \quad &+ h_{n,k} \left(\frac{12n^2 - 12n + 1}{128} + \frac{5n - 2}{24} h_{n,k}^2 + \frac{5}{96} h_{n,k}^4 \right) \lambda^{-2} + O(\lambda^{-3}). \end{aligned}$$

Our aim is to obtain analogues of these results concerning the limit relations (1) and (3). In order to formulate our main result, recall first that the Pochhammer symbol $(a)_n$ is defined by $(a)_0 := 1$ and $(a)_n = a(a + 1) \cdots (a + n - 1)$ when $n \geq 1$. The elementary symmetric functions $\sigma_j(a_1, \dots, a_k)$ of a_1, \dots, a_k are given by

$$\sigma_j(a_1, \dots, a_k) = \sum_{1 \leq i_1 < \dots < i_j \leq k} a_{i_1} \cdots a_{i_j}$$

with the conventions $\sigma_0(a_1, \dots, a_k) := 1$ and $\sigma_j(a_1, \dots, a_k) := 0$ when $j > k$. In what follows we denote by $\sigma_j^{(k)}(n, \alpha, \mu)$ the elementary symmetric functions of the specific variables $n + \alpha + \mu + 1, \dots, n + \alpha + \mu + k$, that is,

$$\sigma_j^{(k)}(n, \alpha, \mu) := \sigma_j(n + \alpha + \mu + 1, \dots, n + \alpha + \mu + k).$$

Our main result reads as follows:

Theorem 1. *The Jacobi polynomial $P_n^{(\alpha, \beta + \mu)}(x)$ can be represented in the form*

$$(6) \quad P_n^{(\alpha, \beta + \mu)}\left(1 - \frac{2x}{\beta}\right) = \sum_{j=0}^n R_{nj}(x) \beta^{-j},$$

where

$$(7) \quad R_{nj}(x) = (-1)^j \frac{(j + \alpha + 1)_{n-j}}{(n - j)!} x^j \sum_{k=0}^{n-j} \frac{(j - n)_k}{(j + \alpha + 1)_k} \sigma_j^{(j+k)}(n, \alpha, \mu) \frac{x^k}{(j + k)!}.$$

In particular,

$$(8) \quad R_{n,0}(x) = L_n^{(\alpha)}(x),$$

$$(9) \quad R_{n,1}(x) = (n + \alpha + \mu + 1)x \frac{d}{dx} L_n^{(\alpha)}(x) + \frac{x^2}{2} \frac{d^2}{dx^2} L_n^{(\alpha)}(x),$$

$$(9) \quad R_{n,2}(x) = \frac{(n + \alpha + \mu + 1)(n + \alpha + \mu + 2)}{2} x^2 \frac{d^2}{dx^2} L_n^{(\alpha)}(x) + \frac{3n + 3(\alpha + \mu) + 5}{6} x^3 \frac{d^3}{dx^3} L_n^{(\alpha)}(x) + \frac{x^4}{8} \frac{d^4}{dx^4} L_n^{(\alpha)}(x).$$

Observe that while the expansion we need is obviously the one for $\mu = 0$, we obtain a little more general result which will allow us to derive the result of Elbert and Laforgia too.

Theorem 2. Let $n \in \mathbb{N}$, $1 \leq k \leq n$, and $\alpha > -1$. The zeros of Jacobi polynomials possess the following asymptotic behaviour as $\beta \rightarrow \infty$:

$$(10) \quad \frac{\beta(1 - x_{nk}(\alpha, \beta + \mu))}{2} = \ell_{n,n+1-k}(\alpha) + \frac{A}{\beta} + \frac{B}{\beta^2} + O\left(\frac{1}{\beta^3}\right),$$

where

$$A = -\frac{\ell_{n,n+1-k}(\alpha)}{2} (2(n + \mu) + \alpha + 1 + \ell_{n,n+1-k}(\alpha))$$

and

$$B = \frac{\ell_{n,n+1-k}(\alpha)}{24} \times \{5 + 7\alpha^2 + 24\mu(1 + \mu) + 2\alpha(1 + 2\mu) + 24n(1 + \alpha + n + 2\mu) + [13(1 + \alpha + 2n) + 24\mu]\ell_{n,n+1-k}(\alpha) + 4\ell_{n,n+1-k}^2(\alpha)\}.$$

A similar procedure as in [4] yields the following:

Corollary 1. The derivatives of the zeros of Jacobi polynomials with respect to the parameter β obey the following limit relations:

$$(11) \quad \lim_{\beta \rightarrow \infty} \beta^2 \frac{\partial}{\partial \beta} x_{n,k}(\alpha, \beta) = 2\ell_{n,n+1-k}(\alpha),$$

$$(12) \quad \lim_{\beta \rightarrow \infty} \beta^3 \frac{\partial^2}{\partial \beta^2} x_{n,k}(\alpha, \beta) = -4\ell_{n,n+1-k}(\alpha).$$

While the fact that all zeros of Jacobi polynomials are increasing functions of the parameter β is well known, (11) reveals the exact behaviour of the derivative with respect to β at infinity. The expression (12) is more interesting because it shows that $x_{n,k}(\alpha, \beta)$ are concave for large β . Though it is risky to conjecture that the zeros would be concave for the entire range of $\beta \in (-1, \infty)$ (see [1, 5]), it would be of interest to study the problem about their convexity/concavity properties. We refer to [2] for some partial results and conjectures concerning convexity of the zeros of Gegenbauer and Laguerre polynomials with respect to the corresponding parameters and to [3] for monotonicity properties of $X_{n,k}(\alpha, \beta) = \beta(1 - x_{n,k}(\alpha, \beta))/2$, considered as functions of β . Since (11) and (12) are equivalent to

$$\begin{aligned} \lim_{\beta \rightarrow \infty} \frac{\partial}{\partial \beta} \{\beta X_{n,k}(\alpha, \beta)\} &= \ell_{n,n+1-k}(\alpha), \\ \lim_{\beta \rightarrow \infty} \frac{\partial^2}{\partial \beta^2} \{\beta^2 X_{n,k}(\alpha, \beta)\} &= 2\ell_{n,n+1-k}(\alpha), \end{aligned}$$

for some technical reasons described in [3], one could study the problem if the functions on the left-hand side of the latter relations are monotonic.

2. PROOFS

Let us recall that the hypergeometric function is defined by

$${}_pF_q(a_1, \dots, a_p; b_1, \dots, b_q; x) = \sum_{k=0}^{\infty} \frac{(a_1)_k \cdots (a_p)_k}{(b_1)_k \cdots (b_q)_k} \frac{x^k}{k!}.$$

Proof of Theorem 1. The Jacobi polynomials $P_n^{(\alpha, \beta + \mu)}(x)$ have the following explicit representation in terms of the hypergeometric function [6, (1.8.1)]:

$$P_n^{(\alpha, \beta + \mu)}(x) = \frac{(\alpha + 1)_n}{n!} {}_2F_1(-n, n + \alpha + \beta + \mu + 1; \alpha + 1; \frac{1 - x}{2}).$$

Replacing x by $1 - 2x/\beta$, we obtain

$$(13) \quad P_n^{(\alpha, \beta + \mu)}\left(1 - \frac{2x}{\beta}\right) = \frac{(\alpha + 1)_n}{n!} \sum_{k=0}^n \frac{(-n)_k}{(\alpha + 1)_k} \frac{(\beta + n + \alpha + \mu + 1)_k}{\beta^k} \frac{x^k}{k!}.$$

Let us consider the numerator in the second fraction in the sum as a polynomial of β and expand it using Vieta's formulae to obtain

$$(14) \quad P_n^{(\alpha, \beta)}\left(1 - \frac{2x}{\beta}\right) = \frac{(\alpha + 1)_n}{n!} \sum_{k=0}^n \frac{(-n)_k}{(\alpha + 1)_k} \sum_{j=0}^k \sigma_j^{(k)}(n, \alpha, \mu) \beta^{-j} \frac{x^k}{k!}.$$

Change of order of summation yields

$$(15) \quad P_n^{(\alpha, \beta)}\left(1 - \frac{2x}{\beta}\right) = \frac{(\alpha + 1)_n}{n!} \sum_{j=0}^n \beta^{-j} \sum_{k=j}^n \frac{(-n)_k}{(\alpha + 1)_k} \sigma_j^{(k)}(n, \alpha, \mu) \frac{x^k}{k!}.$$

Therefore

$$\begin{aligned} R_{nj}(x) &= \frac{(\alpha + 1)_n}{n!} \sum_{k=j}^n \frac{(-n)_k}{(\alpha + 1)_k} \sigma_j^{(k)}(n, \alpha, \mu) \frac{x^k}{k!} \\ &= \frac{(-n)_j (\alpha + 1)_n}{n! (\alpha + 1)_j} x^j \sum_{k=0}^{n-j} \frac{(-n + j)_k}{(\alpha + j + 1)_k} \sigma_j^{(j+k)}(n, \alpha, \mu) \frac{x^k}{(j + k)!} \\ &= \frac{(-1)^j}{(n - j)!} (\alpha + j + 1)_{n-j} x^j \sum_{k=0}^{n-j} \frac{(-n + j)_k}{(\alpha + j + 1)_k} \sigma_j^{(j+k)}(n, \alpha, \mu) \frac{x^k}{(j + k)!}. \end{aligned}$$

It remains to obtain the explicit representations of $R_{nj}(x)$ for $j = 0, 1, 2$. Since the Laguerre polynomials possess the hypergeometric representation of the form (see [6, (1.11.1)])

$$L_n^{(\alpha)}(x) = \frac{(\alpha + 1)_n}{n!} {}_1F_1(-n; \alpha + 1; x),$$

it is easily seen that

$$R_{n0}(x) = \frac{(\alpha + 1)_n}{n!} \sum_{k=0}^n \frac{(-n)_k}{(\alpha + 1)_k} \frac{x^k}{k!} = \frac{(\alpha + 1)_n}{n!} {}_1F_1(-n; \alpha + 1; x) = L_n^{(\alpha)}(x).$$

Observe that

$$\sigma_1^{(k+1)}(n, \alpha, \mu) = (k + 1) \left(n + \alpha + \mu + 1 + \frac{k}{2} \right).$$

Then

$$\begin{aligned} R_{n1}(x) &= -\frac{(\alpha + 2)_{n-1}}{(n - 1)!} x \sum_{k=0}^{n-1} \frac{(-n + 1)_k}{(\alpha + 2)_k} \left\{ (n + \alpha + \mu + 1) + \frac{k}{2} \right\} \frac{x^k}{k!} \\ &= -x \left\{ (n + \alpha + \mu + 1) L_{n-1}^{(\alpha+1)}(x) + \frac{x}{2} \frac{d}{dx} L_{n-1}^{(\alpha+1)}(x) \right\}. \end{aligned}$$

Now the well-known relation between the Laguerre polynomial and its derivatives

$$(16) \quad \frac{d^k}{dx^k} L_n^{(\alpha)}(x) = (-1)^k L_{n-k}^{(\alpha+k)}(x)$$

immediately yields (8). Similarly,

$$\frac{\sigma_2^{(k+2)}(n, \alpha, \mu)}{(k+1)(k+2)} = \frac{(n+\alpha+\mu+1)(n+\alpha+\mu+2)}{2} + \frac{k(3n+3(\alpha+\mu)+5)}{6} + \frac{k(k-1)}{8}$$

yields

$$\begin{aligned} R_{n2}(x) &= \frac{(\alpha+3)_{n-2}}{(n-2)!} x^2 \sum_{k=0}^{n-2} \frac{(-n+2)_k}{(\alpha+3)_k} \sigma_2^{(k+2)} \frac{x^k}{(k+2)!} \\ &= \frac{(n+\alpha+\mu+1)(n+\alpha+\mu+2)}{2} x^2 L_{n-2}^{(\alpha+2)}(x) \\ &\quad + \frac{3n+3(\alpha+\mu)+5}{6} x^3 \frac{d}{dx} L_{n-2}^{(\alpha+2)}(x) \\ &\quad + \frac{x^4}{8} \frac{d^2}{dx^2} L_{n-2}^{(\alpha+2)}(x). \end{aligned}$$

Then (16) implies (9). □

We shall need the following technical results in the proof of Theorem 2.

Lemma 1. *The Laguerre polynomials satisfy the linear differential equations*

$$x^j \frac{d^{j+1}(L_n^{(\alpha)}(x))}{dx^{j+1}} = a_{j,1}(x) \frac{d}{dx} L_n^{(\alpha)}(x) + a_{j,2}(x) L_n^{(\alpha)}(x), \quad j = 1, 2, \dots, n,$$

where the polynomials $a_{j,1}(x)$ and $a_{j,2}(x)$ are generated by the recurrence relations

$$\begin{aligned} a_{j,1}(x) &= (x - \alpha - j) a_{j-1,1}(x) + (j - 1 - n) x a_{j-2,1}(x), \\ a_{j,2}(x) &= (x - \alpha - j) a_{j-1,2}(x) + (j - 1 - n) x a_{j-2,2}(x), \end{aligned}$$

for $j = 2, \dots, n-1$, with initial conditions

$$\begin{aligned} a_{0,1}(x) &= 1, & a_{1,1}(x) &= x - \alpha - 1, \\ a_{0,2}(x) &= 0, & a_{1,2}(x) &= -n. \end{aligned}$$

Proof. The classical second order differential equation for the Laguerre polynomials is (see [7, p. 100])

$$x \frac{d^2}{dx^2} L_n^{(\alpha)}(x) = (x - \alpha - 1) \frac{d}{dx} L_n^{(\alpha)}(x) - n L_n^{(\alpha)}(x).$$

Differentiating it we obtain

$$x \frac{d^{j+1}(L_n^{(\alpha)}(x))}{dx^{j+1}} = (x - \alpha - j) \frac{d^j(L_n^{(\alpha)}(x))}{dx^j} + (j - 1 - n) \frac{d^{j-1}(L_n^{(\alpha)}(x))}{dx^{j-1}}.$$

Multiplying this result by x^{j-1} , we derive

$$\begin{aligned} x^j \frac{d^{j+1}(L_n^{(\alpha)}(x))}{dx^{j+1}} &= (x - \alpha - j)x^{j-1} \frac{d^j(L_n^{(\alpha)}(x))}{dx^j} + (j - 1 - n)x^{j-1} \frac{d^{j-1}(L_n^{(\alpha)}(x))}{dx^{j-1}} \\ &= (x - \alpha - j)[a_{j-1,1}(x) \frac{d}{dx} L_n^{(\alpha)}(x) + a_{j-1,2}(x) L_n^{(\alpha)}(x)] \\ &\quad + (j - 1 - n)x[a_{j-2,1}(x) \frac{d}{dx} L_n^{(\alpha)}(x) + a_{j-2,2}(x) L_n^{(\alpha)}(x)] \\ &= [(x - \alpha - j)a_{j-1,1}(x) + (j - 1 - n)xa_{j-2,1}(x)] \frac{d}{dx} L_n^{(\alpha)}(x) \\ &\quad + [(x - \alpha - j)a_{j-1,2}(x) + (j - 1 - n)xa_{j-2,2}(x)] L_n^{(\alpha)}(x) \\ &= a_{j,1}(x) \frac{d}{dx} L_n^{(\alpha)}(x) + a_{j,2}(x) L_n^{(\alpha)}(x). \end{aligned}$$

Therefore, the polynomials $a_{j,1}(x)$ and $a_{j,2}(x)$ obey the announced recurrence relations. □

Straightforward calculations yield

$$\begin{aligned} a_{2,1}(x) &= x^2 - [2(\alpha + 1) + n]x + (\alpha + 2)(\alpha + 1), \\ a_{2,2}(x) &= -n(x - \alpha - 2), \end{aligned}$$

and

$$\begin{aligned} a_{3,1}(x) &= x^3 - [3(\alpha + 1) + 2n]x^2 + [(\alpha + 1)(2\alpha + 3 + n) + (\alpha + 3)(\alpha + 1 + n)]x \\ &\quad - (\alpha + 1)(\alpha + 2)(\alpha + 3), \\ a_{3,2}(x) &= -n[x^2 - (2\alpha + n + 3)x + (\alpha + 3)(\alpha + 2)]. \end{aligned}$$

Lemma 2. *The polynomials $R_{n,1}(x)$, $R_{n,2}(x)$ and $R'_{n,1}(x)$ can be represented as*

$$\begin{aligned} R_{n1}(x) &= f_1(x) \frac{d}{dx} L_n^{(\alpha)}(x) + f_2(x) L_n^{(\alpha)}(x), \\ R_{n2}(x) &= g_1(x) \frac{d}{dx} L_n^{(\alpha)}(x) + g_2(x) L_n^{(\alpha)}(x), \\ R'_{n1}(x) &= h_1(x) L_n^{(\alpha)'}(x) + h_2(x) L_n^{(\alpha)}(x), \end{aligned}$$

with

$$\begin{aligned} f_1(x) &= \frac{x}{2}(\alpha + 2n + 2\mu + x + 1), \quad f_2(x) = -\frac{nx}{2}, \\ g_1(x) &= \frac{x}{24} \{3x^3 + (11 + 6n + 3\alpha + 12\mu)x^2 \\ &\quad + (12\mu^2 + 12(n + 1)\mu - (1 + 2n + \alpha)(3\alpha - 2))x \\ &\quad - (\alpha + 1)(2 + 7\alpha + 12\mu + 3(4n^2 + (\alpha + 2\mu)^2 + 4n(1 + \alpha + 2\mu)))\}, \\ g_2(x) &= -\frac{nx}{24} \{-3x^2 - (11 + 9n + 6\alpha + 12\mu)x \\ &\quad - (2 + 7\alpha + 12\mu + 3(4n^2 + (\alpha + 2\mu)^2 + 4n(1 + \alpha + 2\mu)))\}, \\ h_1(x) &= \frac{1}{2} \{x^2 + (2 + n + 2\mu)x - \alpha(1 + 2n + \alpha + 2\mu)\}, \\ h_2(x) &= -\frac{n}{2} \{2(1 + n + \mu) + \alpha + x\}. \end{aligned}$$

The explicit forms of $f_1(x)$, $f_2(x)$, $g_1(x)$ and $g_2(x)$ can be derived immediately from Lemma 1 and then, to obtain $h_1(x)$ and $h_2(x)$, it suffices to observe that

$$\begin{aligned} h_1(x) &= f'_1(x) + f_2(x) + \frac{f_1(x)a_{1,1}(x)}{x}, \\ h_2(x) &= \frac{f_1(x)}{x}a_{1,2}(x) + f'_2(x). \end{aligned}$$

Proof of Theorem 2. The problem of determining the asymptotic behaviour of the zeros of $\sum_{j=0}^n R_{nj}(x) \beta^{-j}$, when $\beta \rightarrow \infty$, is equivalent to obtaining an expression for the asymptotics of the zeros of

$$(17) \quad \sum_{j=0}^n R_{nj}(x) \delta^j,$$

when $\delta \rightarrow 0$. Since the zeros on the left-hand side of (6) are obviously real and distinct, so are the zeros $\zeta_k(\delta)$ of (17). Then, by the implicit function theorem, each $\zeta_k(\delta)$ is an analytic function of δ in a neighbourhood of the origin. Therefore, the zero $\zeta_k(\delta)$ has a Maclaurin expansion

$$\zeta_k(\delta) = \sum_{i=0}^{\infty} \zeta_{k,i} \delta^i.$$

The above expansion is equivalent to the fact that $\beta(1 - x_{nk}(\alpha, \beta + \mu))/2$ possesses a Laurent expansion of the form

$$\frac{\beta(1 - x_{nk}(\alpha, \beta + \mu))}{2} = \sum_{i=0}^{\infty} \zeta_{k,i} \beta^{-i}.$$

We determine the coefficients $\zeta_{k,0}$, $\zeta_{k,1}$ and $\zeta_{k,2}$.

Let us set $\bar{l} := \ell_{n,n+1-k}(\alpha)$. Substituting (10) in (6), we obtain

$$\begin{aligned} 0 &= R_{n0} \left(\bar{l} + \frac{A}{\beta} + \frac{B}{\beta^2} + O\left(\frac{1}{\beta^3}\right) \right) + \frac{1}{\beta} R_{n1} \left(\bar{l} + \frac{A}{\beta} + \frac{B}{\beta^2} + O\left(\frac{1}{\beta^3}\right) \right) \\ &\quad + \frac{1}{\beta^2} R_{n2} \left(\bar{l} + \frac{A}{\beta} + \frac{B}{\beta^2} + O\left(\frac{1}{\beta^3}\right) \right) + O\left(\frac{1}{\beta^3}\right) \\ &= \left(\frac{A}{\beta} + \frac{B}{\beta^2} \right) R'_{n0}(\bar{l}) + \frac{1}{2} \left(\frac{A}{\beta} + \frac{B}{\beta^2} \right)^2 R''_{n0}(\bar{l}) \\ &\quad + \frac{1}{\beta} \left[R_{n1}(\bar{l}) + \frac{A}{\beta} R'_{n1}(\bar{l}) \right] + \frac{1}{\beta^2} R_{n2}(\bar{l}) + O\left(\frac{1}{\beta^3}\right) \\ &= \frac{1}{\beta} [A R'_{n0}(\bar{l}) + R_{n1}(\bar{l})] \\ &\quad + \frac{1}{\beta^2} \left[B R'_{n0}(\bar{l}) + \frac{1}{2} A^2 R''_{n0}(\bar{l}) + A R'_{n1}(\bar{l}) + R_{n2}(\bar{l}) \right] + O\left(\frac{1}{\beta^3}\right). \end{aligned}$$

A comparison of the coefficients of $1/\beta$ and $1/\beta^2$ on both sides gives

$$A = -\frac{R_{n1}(\bar{l})}{R'_{n0}(\bar{l})} \quad \text{and} \quad B = -\frac{1}{2} A^2 \frac{R''_{n0}(\bar{l})}{R'_{n0}(\bar{l})} - A \frac{R'_{n1}(\bar{l})}{R'_{n0}(\bar{l})} - \frac{R_{n2}(\bar{l})}{R'_{n0}(\bar{l})}.$$

Using Lemma 2, we obtain

$$A = -f_1(\bar{l}) = -\frac{\bar{l}}{2}(\alpha + 2n + 2\mu + \bar{l} + 1)$$

and

$$B = \frac{\bar{l}}{24} \{5 + 7\alpha^2 + 24\mu(1 + \mu) + 2\alpha(1 + 2\mu) + 24n(1 + \alpha + n + 2\mu) + [13(1 + \alpha + 2n) + 24\mu]\bar{l} + 4\bar{l}^2\}.$$

This completes the proof of Theorem 2. □

Our final task is to show how Theorem 2 implies (5). According to [6, pp. 41 and 49], when $n = 2m$, we have

$$C_{2m}^{(\lambda)}(x) = \frac{(-1)^m 2^{2m} m! (\lambda + 1)_m}{(2m)!} P_m^{(-1/2, \lambda - 1/2)}(1 - 2x^2), \quad \lambda \neq 0,$$

and

$$H_{2m}(x) = (-1)^m 2^{2m} m! L_m^{(-1/2)}(x^2).$$

We shall need the following identities which involve symmetric functions and Stirling numbers.

Lemma 3. *Let $S_n^{(m)}$ be the Stirling numbers of the first kind. Then the identities*

$$S_{2m-j}^{(2m-j-t)} = \sum_{\nu=\max(0, t-m+1)}^{\min(t, m-j)} (-1)^\nu S_m^{(m+\nu-t)} \sigma_\nu^{(m-j)}(2m, -1/2, -1/2)$$

hold for every $m, j, t \in \mathbb{N}$ with $0 \leq j \leq 2m$ and $t = 0, \dots, 2m - j$.

Proof. Using the generating function for the Stirling numbers of the first kind, we obtain

$$(x)_{2m-j} = x \dots (x - m + 1)(x - m) \dots (x - m - (m - j) + 1) = \sum_{t=0}^{2m-j} S_{2m-j}^{(2m-j-t)} x^{2m-j-t}$$

and

$$\begin{aligned} (x)_{2m-j} &= \left\{ \sum_{k=1}^m S_m^{(k)} x^k \right\} \left\{ \sum_{i=0}^{m-j} (-1)^i \sigma_i^{(m-j)}(2m, -1/2, -1/2) x^{m-j-i} \right\} \\ &= \sum_{t=0}^{2m-j} \left\{ \sum_{\nu=\max(0, t-m+1)}^{\min(t, m-j)} (-1)^\nu S_m^{(m+\nu-t)} \sigma_\nu^{(m-j)}(2m, -1/2, -1/2) \right\} x^{2m-j-t}. \end{aligned}$$

A comparison implies the desired result.

Now we are ready to complete our alternative proof of (5) for $n = 2m$ as a consequence of Theorem 2 and the latter two facts. Using Theorem 2 with $\alpha = -1/2$, $\beta = \lambda$ and $\mu = -1/2$, and denoting $\kappa_m := (-4)^m m! / (2m)!$, we obtain

$$\begin{aligned} \lambda^{-m} C_{2m}^{(\lambda)} \left(\frac{x}{\sqrt{\lambda}} \right) &= \kappa_m \lambda^{-m} (\lambda)_m P_m^{(-1/2, \lambda-1/2)} (1 - 2x^2/\lambda) \\ &= \kappa_m \left\{ \sum_{i=1}^m (-1)^{i-m} S_m^{(i)} \lambda^{i-m} \right\} \left\{ \sum_{j=0}^m R_{mj}(x^2) \lambda^{-j} \right\} \\ &= \kappa_m \left\{ \sum_{j=0}^{m-1} (-1)^j S_m^{(m-j)} \lambda^{-j} \right\} \left\{ \sum_{j=0}^m R_{mj}(x^2) \lambda^{-j} \right\} \\ &= \kappa_m \left\{ \sum_{j=0}^{m-1} \delta_{m-j} \lambda^{-j} \right\} \left\{ \sum_{j=0}^m R_{mj}(x^2) \lambda^{-j} \right\} \\ &= \kappa_m \left\{ \sum_{t=0}^{2m-1} \left[\sum_{\nu=\max(0, t-m+1)}^{\min(m, t)} \delta_{m-(t-\nu)} R_{m\nu}(x^2) \right] \lambda^{-t} \right\}. \end{aligned}$$

Thus we have derived a representation of the form

$$\lambda^{-m} C_{2m}^{(\lambda)} \left(\frac{x}{\sqrt{\lambda}} \right) = \sum_{t=0}^{2m-1} \tilde{Q}_{2m, t}(x) \lambda^{-t}$$

where

$$\tilde{Q}_{2m, t}(x) = \kappa_m \sum_{\nu=\hat{m}}^{\bar{m}} \delta_{m+\nu-t} R_{m, \nu}(x^2).$$

Since

$$\begin{aligned} R_{m\nu}(x^2) &= \frac{(1/2)_m}{m!} \sum_{k=\nu}^m \frac{(-m)_k}{(1/2)_k} \sigma_\nu^{(k)}(2m, -1/2, -1/2) \frac{x^{2k}}{k!} \\ &= \frac{(2m)!}{2^{2m} m!} \sum_{k=\nu}^m (-1)^k \sigma_\nu^{(k)}(2m, -1/2, -1/2) \frac{(2x)^{2k}}{(m-k)!(2k)!}, \end{aligned}$$

adopting the abbreviations $\widehat{m} = \max(0, t - m + 1)$ and $\overline{m} = \min(m, t)$, we derive

$$\begin{aligned} \tilde{Q}_{2m,t}(x) &= \sum_{\nu=\widehat{m}}^{\overline{m}} (-1)^m \delta_{m-(t-\nu)} \sum_{k=\nu}^m (-1)^k \sigma_\nu^{(k)}(2m, -1/2, -1/2) \frac{(2x)^{2k}}{(m-k)!(2k)!} \\ &= \sum_{\nu=\widehat{m}}^{\overline{m}} \sum_{k=\nu}^m (-1)^{m+k} \delta_{m-(t-\nu)} \sigma_\nu^{(k)}(2m, -1/2, -1/2) \frac{(2x)^{2k}}{(m-k)!(2k)!} \\ &= \sum_{\nu=\widehat{m}}^{\overline{m}} \sum_{j=0}^{m-\nu} (-1)^{t-j-\nu} S_m^{(m+\nu-t)} \sigma_\nu^{(m-j)}(2m, -1/2, -1/2) \frac{(2x)^{2m-2j}}{(2m-2j)!j!} \\ &= \sum_{j=0}^{m-\widehat{m}} \left(\sum_{\nu=\widehat{m}}^{\min(t,m-j)} (-1)^{t-j-\nu} S_m^{(m+\nu-t)} \sigma_\nu^{(m-j)}(2m, -1/2, -1/2) \right) \frac{(2x)^{2m-2j}}{(2m-2j)!j!} \\ &= \sum_{j=0}^{\min(m,2m-t-1)} \left(\sum_{\nu=\widehat{m}}^{\min(t,m-j)} (-1)^{t-j-\nu} S_m^{(m+\nu-t)} \sigma_\nu^{(m-j)}(2m, -1/2, -1/2) \right) \frac{(2x)^{2m-2j}}{(2m-2j)!j!}. \end{aligned}$$

Now Lemma 3 yields

$$\tilde{Q}_{2m,t}(x) = \sum_{j=0}^{\min(m,2m-t-1)} (-1)^{t+j} S_m^{(2m-j-t)} \frac{(2x)^{2m-2j}}{(2m-2j)!j!},$$

and this is exactly the explicit form of the polynomials $Q_{2m,t}(x)$ obtained by Elbert and Laforgia in [4]. A similar procedure for $n = 2m + 1$, using the identities

$$\begin{aligned} C_{2m+1}^{(\lambda)}(x) &= \frac{\Gamma(\alpha + m + 1)m!2^{2m+1}}{\Gamma(\alpha)(2m + 1)!} x P_m^{(1/2,\lambda-1/2)}(2x^2 - 1), \\ H_{2m+1}(x) &= (-1)^m 2^{2m+1} m! x L_m^{(1/2)}(x^2), \end{aligned}$$

shows that Theorem 2 yields the explicit form of the polynomials $Q_{2m+1,t}(x)$, obtained in [4] too.

The statement of the corollary is an immediate consequence of Theorem 2. Indeed, multiplying (10) by β (by β^2 , respectively) and differentiating once (twice), we obtain (11) and (12).

ACKNOWLEDGMENT

The authors thank the referees for their valuable and constructive remarks which helped us to improve the presentation significantly.

REFERENCES

[1] Dimitar K. Dimitrov, *Connection coefficients and zeros of orthogonal polynomials*, Proceedings of the Fifth International Symposium on Orthogonal Polynomials, Special Functions and their Applications (Patras, 1999), J. Comput. Appl. Math. **133** (2001), no. 1-2, 331–340, DOI 10.1016/S0377-0427(00)00653-1. MR1858291 (2002k:33007)

[2] Dimitar K. Dimitrov, *Convexity of the extreme zeros of Gegenbauer and Laguerre polynomials*, Proceedings of the Sixth International Symposium on Orthogonal Polynomials, Special Functions and their Applications (Rome, 2001), J. Comput. Appl. Math. **153** (2003), no. 1-2, 171–180, DOI 10.1016/S0377-0427(02)00645-3. MR1985689 (2004g:33017)

[3] Dimitar K. Dimitrov and Fernando R. Rafaeli, *Monotonicity of zeros of Jacobi polynomials*, J. Approx. Theory **149** (2007), no. 1, 15–29, DOI 10.1016/j.jat.2007.04.004. MR2371611 (2010c:33021)

- [4] Árpád Elbert and Andrea Laforgia, *Asymptotic formulas for ultraspherical polynomials $P_n^\lambda(x)$ and their zeros for large values of λ* , Proc. Amer. Math. Soc. **114** (1992), no. 2, 371–377, DOI 10.2307/2159657. MR1089404 (92e:33011)
- [5] Á. Elbert, A. Laforgia, and P. Siafarikas, *A conjecture on the zeros of ultraspherical polynomials*, J. Comput. Appl. Math. **133** (2001), 684.
- [6] R. Koekoek and R. F. Swarttouw, *The Askey-scheme of hypergeometric orthogonal polynomials and its q -analogue*, Delft University of Technology, Faculty of Technical Mathematics and Informatics, Report no. 98–17, 1998, online version.
- [7] G. Szegő, *Orthogonal polynomials*, 4th ed, American Mathematical Society Colloquium Publications, Vol. 23, American Mathematical Society, Providence, RI, 1975. MR0372517 (51 #8724)

DEPARTAMENTO DE MATEMÁTICA APLICADA, IBILCE, UNIVERSIDADE ESTADUAL PAULISTA,
15054-000 SÃO JOSÉ DO RIO PRETO, SP, BRAZIL
E-mail address: `dimitrov@ibilce.unesp.br`

INSTITUTO DE MATEMÁTICA, ESTATÍSTICA E COMPUTAÇÃO CIENTÍFICA, UNIVERSIDADE ESTADUAL DE CAMPINAS, CAMPINAS-SP, 13083-970, BRAZIL
E-mail address: `ra115031@ime.unicamp.br`